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.     Informal Confidence Intervals    .
We know each sample varies. 
How do we make an estimate for the actual population median? (or mean)
Make a confidence interval

An interval within which we can be reasonably sure the actual population mean (or median) occurs

How sure? Reasonably confident (If we made 100 different samples and 100 confidence intervals then about 95% of the confidence intervals would contain the actual population mean) – see Excel demo
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Remember Level 2

Informal confidence interval
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This is an approximation for the confidence interval

To have a reasonably representative sample we needed a sample size of at least 30
    What if our sample is smaller?
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.     Using iNZight    .
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